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Int answer = 0O;
while (answer ==0) {
printf( 79 1:\n";
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Int answer = 0;
while ( (answer%a3 = 2) ||
(answer%5 = 3) ||
(answer%7 = 2) )
{
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scanf("%d", &answer);

}
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Int answer = 0;
while ( (answer%3 != 2) || (answer%5 = 3) || (answer%7 1= 2) ) {
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prjlntf( il r AL 3 f=gx 2 ~ PLS[=Er 3~ WL 7 [=Ex 2 puge: \n");
scanf("%d", &answer);
}
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int k=0, answer = 0;

while ( (answer%3 != 2) || (answer%5 = 3) || (answer%7 = 2) )

{
if (k>0) ﬁﬁ\ i Dy
printf( j? f ][af L3 fRER 2~ BLS RER 3~ BL 7 [RER 2 VB \n");
scanf( /o &answer);
K++
}
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int k=0, correctAnswer = 0, answer;

while (correctAnswer == 0)

{
prmtf("%f A 3 =Er 2 ~ PS5 [RER 3~ B 7 [RER 2 puEe: \n™);
scanf(’ % &answer);

K++;
If ((answer%3 1= 2) || (answer%5 != 3) || (answer%?7 = 2))
JL | \5:? ' |
else
correctAnswer = 1;
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int k=0, correctAnswer = 0, answer:
while (correctAnswer ==0){

printf( — [P 3[R 2 WS RER 3~ WL 7 [RER 2V \n");

scanf(' A) &answer);
K++;

if ((answer%B 1= 2) || (answer%5 = 3) || (answer%7 = 2))
JL r EFF ' |
else {
correctAnswer = 1;
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}

int k=0, answer:
while (1) {

printf( Tf b 3 =gk 2~ WL 5 [RER 3~ ¥ 7 [RER 2 Ul \n™);
A)

scanf('
K++;

If ((answer%3 1= 2) || (answer%5 1= 3) || (answer%7 = 2))

Jr_r \QFF'J

else{
I' F;ﬁeh@ | R e ﬁﬁnaﬁe@
break

}

&answer);
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T int x; scanf("%d", &x)
if (x == 1) {// 1
}

else if (x >= 2) && (x<=4)) {// 2, 3, 4

-
else if (x <= 8) {//5, ..., 8

}
else{//9, 10, ...,0,-1, -2, ...

}
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